Divide 0 counters into 2 groups.
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0+2=0

Divide 0 counters into 4 groups.
0+4=0
When 0 is divided by any number except 0, the quotient is 0.

Divide 4 counters into 4 groups.
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4+4=1

Divide 2 counters into 2 groups.
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Here is an example using a number line.
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Aoddalmmern s 1ninyg PDaskeLrs Ol appies. 1he arrmen
has 24 apples and 4 baskets. If she divides them
equally, how many apples will she put in each

basket?
dividend divisor quotient
24 + 4 =6
7 1 A
number number number in

of apples of baskets  a basket

When you divide to find the number of groups, the division is
called measuring or repeated subtraction. It is easy to see that

you can keep subtracting 4 from 24 until you reach zero. Each 4
you subtract is a group or basket.

A farmer has 24 apples. She wants to sell them at

4 apples for $1.00. How many baskets of 4 can
she fill?

dividend divisor quotient

24 + 4 = 6
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